12”0554 (K12n0554)

Linearized knot diagam

LN SRR

6 8 10 12 2 4 3 5 9 1 5

w

Solving Sequence

59 —>10—->34->18->12—>6—>2—7—> 11 —>> C1,C3,C7,C10
C9 Cq Cg C12 Cs C2 Ce C11

A knot diagranﬂ

Ideals for irreducible component#ﬂ)f Xpar

I = (—u® —u* = 5u® — 5u® + 6d — du — 2, v +u* —u® —u? +12¢ — 8u — 4,

—u® —dut — 5u® — 8u? + 6b — du — 2, u® + ut 4 5ud — u® + 12a — 2u — 4,

ub + 3u® + Tut + 9uP 4 8u? 4 4u + 4)

P u?+2d-3u—1, c+1, b+u, v —u®+2a+5u—1, ut +4u® +2u+1)
—w+ut+2d—3u—1, c+1, —u® —u?4+2b—5u—5, —u +u? +2a — 5u+ 3, u4+4u2+2u+1>
ud—u? +2d+5u+1, 5ud —u?+2c+19u+5, b+ u, P —u®+2a+5u—1, u4+4u2+2u+1>
d+1,2c—u—1,b,a—1, u* —u+2)

I3 =
(
(
(
(d4+1,2c—u—1,b—u+1, 2a —u+1, u> —u+2)
(
(
(
(

I3
1§
I3
1§
I7

d—u, c,b—u+1,2a—u+1, u? —u+2)
Ig d+1,¢ b, a—1, u+1)

Iy ={d, c—u, b—u, a—1, u? +1)
Ily={(d—u, c—1, b+ 1, a, u* +1)

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew (http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).


http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

IN={d—-u,c—1,b—u a—1, u*>+1)
I ={(d—u, cb—u+1, a—1, u> +1)

IV ={(a,d—v, —av+c+1,b—1, v +1)

* 12 irreducible components of dim¢ = 0, with total 33 representations.
* 1 irreducible components of dim¢ = 1

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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oo+

+6d—2, uP+ut+..-+12c—4, —u® —4u* +-
-+ 12a — 4, uS +3uS + -+ +4u +4)

6b — 2, u® +u* 4.

L I*=(—u®—u*+-

(i) Arc colorings

~~ A~ \u) A
e e e, T e TN TN
+ =1 4 il , =l + | 2,31,3\'/2,323
3 + 3+ o S a4
e 3 Moz 5 3o 33+ 3t
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oy o 3 S o, a, £y EEEE r\HT o 1,u2 + r\HT + =
o~ — =S e = 3+ =S o i 17m1,_6 Sam % 3% M‘ B
I TR I TR (N TR I
(e} [a\} —
10 [=2] — [ae) <t — 0 — O o I~ —
3 S S S S S S S S S 3 S

-1

(ii) Obstruction class

(iii) Cusp Shapes = —u® — u? — w3 + 5u? + 6u + 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C11 ub + 2u° 4+ 11u* + 8u® + 35u? + 6u + 1
C2,C3,Cs5
g, C7,C8 ub +ut + 2u + 5u? —2u+ 1
C12
C4,Cy u® — 3ud + Tut — 9ud +8u? —4u+ 4
c10 u® — 5u® + 11u? — 15u® + 48u® — 48u + 16




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c 6 5 4 3 2
1,C11 y° + 18y° 4+ 159y~ 4 684y° + 1151y“ + 34y + 1
C2,C3,Cs5
C6,Cr, Cg 5+ 2y° + 11y* + 8y® + 35y + 6y + 1
C12
c4, Cy Y% + 5y° + 11y* + 15y + 48y + 48y + 16
6 5 4 3 2
C10 Yo — 3y’ + 67y" + 383y” + 1216y~ — 768y + 256




(vi) Complex Volumes and Cusp Shapes

Solutions to I} v—1(vol + /—1C5) Cusp shape

0.161386 + 0.7888181
0.386240 + 0.3417971
—0.360068 + 0.3353441 0.555934 — 1.0311301 7.70744 4 6.558491
0.318404 + 0.5216091
—0.207282 + 0.3598341

SO ST
([

0.161386 — 0.7888181
0.386240 — 0.3417971
—0.360068 — 0.3353441 | 0.555934 + 1.0311301 | 7.70744 — 6.558491
0.318404 — 0.5216091
—0.207282 — 0.3598341

—1.161390 + 0.7888181
—0.263365 — 0.9965021
0.040620 — 1.2978301 3.25859 4 6.909451 3.50627 — 5.327381
c = —0.543326 + 0.7484511
d=1.09193 + 0.949581

> Q2 £ 0 o 8 g o
1

u = —1.161390 — 0.7888181
a = —0.263365 + 0.9965021
b= 0.040620 + 1.2978301 3.25859 — 6.909451 3.50627 + 5.327381
¢ = —0.543326 — 0.7484511
1.09193 — 0.949581

u = —0.50000 + 1.697171
a = —0.622875 4 0.7047511
b= —0.18055 + 2.206151 10.9899 + 13.33391 2.78630 — 6.005591
c= 1.224920 — 0.2544881
d = —0.88465 — 1.409501

u = —0.50000 — 1.697171
a = —0.622875 — 0.7047511
b= —0.18055 — 2.206151 10.9899 — 13.33391 2.78630 + 6.005591
c= 1.224920 + 0.2544881
d = —0.88465 + 1.409501




II.
I¥ = (—ud+u?+2d—3u—1, c+1, b+u, u*—u?+2a+5u—1, u*+4u?+2u+1)

(i) Arc colorings

o ()

1
ag = 0
1
alg = U2
-1
4= \gu’ = gu’ + Ju+5
U
as = \ud+u
4+ g - ut
ay = u
1,3, 1,2 _ 3 1
_152 1§I2L —1§u 12
T\ gut Uit gu—3
1,3, 1,2 _ 5 1
—su” +s5u° —su+ 35
SN (o R O VA
2 2 2 2
(%ug’ +3u® + 3u+ g)
ag = —u?
—u? —3u—1
az = \wd+u?+2u+1
ud 4+ 2u
S L e

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u® — 14u — 4



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

€1 u* —u® + 16u + 16

C2,Cg ut = 3ud + 4 —4du+4

€3,C5,C7 W3+ 50 +3u+2

Cg, C12

C4,Cy ut +4u? —2u+1

10 ut — 8u® +18u? —4u + 1

c11 w11+ 1lu+4




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 y* — y® + 64y — 256y + 256
4_ .3
C2, Cp Y y° + 16y + 16
€365, €7 yt oyt + 11y 4+ 11y + 4

Cg8,C12

C4,Cy yt 8y F18y% 44y + 1

c10 y* — 283 4 262y 4+ 20y + 1

i1 yt 4+ 21y3 + 107y% — 33y + 16




(vi) Complex Volumes and Cusp Shapes

Solutions to I3 v—1(vol + /—1C5) Cusp shape

u = —0.264316 + 0.422125]
a= 1.04521 —1.173511
b= 10.264316 — 0.422125] | —3.71660 + 1.175631 | —0.79089 — 5.962771
= —1.00000
= 0.219104 + 0.7513901

= —0.264316 — 0.4221251
= 1.04521 +1.173511
= 0.264316 + 0.422125] | —3.71660 — 1.175631 | —0.79089 + 5.962771
= —1.00000

= 0.219104 — 0.7513901

= 0.26432 4+ 1.990361

= —0.26432 — 1.990361 13.5862 — 4.75171 4.79089 + 2.005861
= —1.00000
= 1.28090 — 1.274411

= 0.26432 —1.990361

= —0.545213 + 0.7159531
= —0.26432 + 1.990361 13.5862 + 4.75171 4.79089 — 2.005861
= —1.00000

c

d

U

a

b

¢

d

U

a = —0.545213 — 0.7159531
b

c

d

U

a

b

c

d= 1.28090 + 1.274411
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I 1 = (—u®+u?*+2d—3u—1, c+1, —u*> —u?+2b—5u—5, —ud +
u? + 2a — 5u + 3, u* + 4u? + 2u + 1)

(i) Arc colorings

o ()

1
ag = 0
1
alg = U2
(3o - 3 03)
= 1,3 1,2 3 1
a3 qu” — Ut +jut g
u
as= \ud+u
1,3 1,2 5 3
su° —Su”+su—35
o= (Tt ey
2 2 2 2
1,3 1,2 3 1
AL —1§“+1§
as =\ gu’—gu’+5u—3
1,3 1,2 5 3
QU — Ut ou—3
a1z = w+3u+3
3,,3 1,2 11 5
su” — su°+ Fu+ 5
ag = \ 23,3 73,2 29, 4
6 qu” + 3u U+ 3
wd —u? +3u—2
az = 3u—+3
ud + 2u
or= o gt gu s

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u® — 14u — 4
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! ut +ud + 11u? + 11lu + 4
€2, 3, Co ut + 3u 4+ 5u? + 3u+2
C7,C8
C4,Cy ut+4u? —2u+1
c5,C12 ut = 3ud +4u? —4du+4
C10 ut — 8ud + 18u% —4du + 1
c11 ut —ud + 16u + 16

12



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 y* + 21y +107y% — 33y + 16
€2, 3, Co yt P+ 11y + 11y + 4

€7,C8

C4,Cy Yt +8y3 +18y% +4y + 1

Cs,C12 y* —y® + 16y + 16
c10 y* — 283 4 262y 4+ 20y + 1
c11 yt — % + 64y% — 256y + 256

13



(vi) Complex Volumes and Cusp Shapes

Solutions to I v—1(vol + /—1C5) Cusp shape

u = —0.264316 + 0.422125]
a = —2.04521 + 1.173511
b= 1.84646 + 0.950371 —3.71660 + 1.175631 | —0.79089 — 5.962771
= —1.00000
= 0.219104 + 0.7513901

= —0.264316 — 0.4221251
= —2.04521 — 1.173511
= 1.84646 — 0.950371 —3.71660 — 1.175631 | —0.79089 + 5.962771
= —1.00000

= 0.219104 — 0.7513901

= 0.26432 4+ 1.990361

= —0.34646 + 1.768121 13.5862 — 4.75171 4.79089 + 2.005861
= —1.00000
= 1.28090 — 1.274411

= 0.26432 —1.990361

= —0.454787 — 0.7159531
= —0.34646 — 1.768121 13.5862 + 4.75171 4.79089 — 2.005861
—1.00000

c

d

U

a

b

¢

d

U

a = —0.454787 4 0.7159531
b

c

d

U

a

b

c

d= 1.28090 + 1.274411
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IV. I} = (u® —u?+2d+ 5u+1, 5u® —u?+2c+19u + 5, b+ u, u®> —u? +
2a + 5u — 1, u* + 4u? + 2u + 1)

(i) Arc colorings

o ()
)

[

:CO
+§
N
~— +

ag =

|
Y[
IS
w
_|_
N=
<
[}
|
N|ot
<
+
N[
N——

a1 =

£ lcavion b=

4+ 2 g
I+

[SJ[eY
S——" o= vlw

S
+

|
N[N = DN
S

w w

|
N[N = N
g =
NN

|
N——

N
<

w

+
N[ =
<

[N
o+

ol

=]
oo
I
IS
w
Loy
4
V]
[\)
e
S
|
N———

az

)
5
\

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u® — 14u — 4

15



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C11 w4+ 11+ 1lu+4
€2, 5, C6 ut 4 3u® + 5u® + 3u + 2
C12
c3,C7,C8 ut = 3ud +4u? —du+4
C4,Co w4+ 4u? —2u+1
1o ut — 8ud +18u? —4u + 1

16



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
4 3 2
c1,C11 y* 4+ 21y° + 107y — 33y + 16
€2, 5, C6 vty + 11y + 11y + 4
C12
4 3
€3,C7,C8 Yo —y’ + 16y + 16
C4,Cy Yyt 8y 187 44y + 1
4 3 2
10 Y- —28y° 4+ 262y° 4+ 20y + 1

17



(vi) Complex Volumes and Cusp Shapes

Solutions to I} v—1(vol + /—1C5) Cusp shape

u = —0.264316 + 0.422125]

a= 1.04521 —1.173511

b= 10.264316 — 0.422125] | —3.71660 + 1.175631 | —0.79089 — 5.962771
= —0.35023 — 4.154901
= 0.045213 — 1.1735201

= —0.264316 — 0.4221251
= 1.04521 +1.173511
= 0.264316 + 0.422125] | —3.71660 — 1.175631 | —0.79089 + 5.962771
= —0.35023 + 4.154901
= 0.045213 + 1.1735201

= 0.26432 4+ 1.990361

= —0.26432 — 1.990361 13.5862 — 4.75171 4.79089 + 2.005861
= 0.850232 + 0.2869791
= —1.54521 — 0.715951

= 0.26432 —1.990361

= —0.545213 + 0.7159531
= —0.26432 + 1.990361 13.5862 + 4.75171 4.79089 — 2.005861
= 0.850232 — 0.2869791

c

d

U

a

b

¢

d

U

a = —0.545213 — 0.7159531
b

c

d

U

a

b

c

d = —1.54521 + 0.715951

18



V.I!=(d+1,2c—u—1, b, a—1, u? —u+2)

(i) Arc colorings

(ii) Obstruction class = —1

(iii) Cusp Shapes = 6

19



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,C3 (u_ 1)2
C6, C7,C8
C4,Cs, C
4, €5, €9 ’LL2 Tu42
C12
C10 u? —3u+4
c11 w?+3u+4

20



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3 (y_ 1)2
C6, C7,C8
C4,Cs5,C9 y2+3y+4
C12
€10, C11 y?—y+16

21



(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ V—1(vol + v/—1CS) Cusp shape

uw=0.50000 4 1.322881

= 1.00000
b= 0 1.64493 6.00000
c= 0.750000 4 0.6614381
d = —1.00000
uw = 0.50000 — 1.322881

= 1.00000
b= 0 1.64493 6.00000
c= 0.750000 — 0.6614381
d = —1.00000

22



VLIY=(d+1,2c—u—1,b—u+1,2a—u+1, u —u+2)

(i) Arc colorings

N[

| IS

— |
N[
M\»—'\—/

I+ + 5
o= Wlw —
N————

|
w |
~ ~—

(ii) Obstruction class = —1

(iii) Cusp Shapes =6
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! u? 4 3u 4
C2,Cyq, C
2, 43 6 u2 + u + 2
C9
C3,Cs5,C7 (u—1)2
€8, C11, C12
C10 w? —3u+4
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C10 y2—y+16
C2,C4,Ce y2+3y+4
C9
C3,Cs5,C7 (y_ 1)2
€8, C11, C12

25



(vi) Complex Volumes and Cusp Shapes

Solutions to I VvV—1(vol + /—1CS) Cusp shape

uw = 0.50000 + 1.322881
a = —0.250000 + 0.6614381

b = —0.50000 + 1.322881 1.64493 6.00000
c= 0.750000 + 0.6614381
d = —1.00000

u = 0.50000 — 1.322881
a = —0.250000 — 0.6614381

b = —0.50000 — 1.322881 1.64493 6.00000
c= 0.750000 — 0.6614381
d = —1.00000
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VILI!={(d—u, ¢, b—u+1,2a—u+1, u? —u+2)

(i) Arc colorings

a4 = (
1 1
()
a1 = u—1
1
as = \u—2
1 1
(%)
a2 =\ -1
—%u—!—%
ag = u+1
1 1
(%)
as = —1
—u+1
ar = u+2
u—1
a1 = \u — 2
(ii) Obstruction class = —1

(iii) Cusp Shapes =6
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,C5 (U_ 1)2
Ce6, C11, C12
C3,Cyq, C
3 47 7 U2 + u + 2
Cs, C9
C10 u? —3u+4
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C5 (y_ 1)2
Ce6, C11, C12
63764767 y2+3y+4
Cs, C9
2
C10 y -y + 16

29



(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ VvV—1(vol + /—1CS) Cusp shape

uw=0.50000 4 1.322881

a = —0.250000 + 0.6614381
b = —0.50000 + 1.322881 1.64493 6.00000
c= 0

d = 0.50000 + 1.322881

uw=0.50000 — 1.322881

a = —0.250000 — 0.6614381
b = —0.50000 — 1.3228871 1.64493 6.00000
c= 0

d= 10.50000 — 1.322887

30



VIIL. I} =(d+1, ¢, b, a—1, u+1)

(i) Arc colorings

(ii) Obstruction class = —1

(iii) Cusp Shapes =6

31



(iv) u-Polynomials at the component

Crossings

u-Polynomials at each crossing

C1,C2,C3
C4, Cs5, Ce
C7,Cg,C9

C11,C12

€10

u—+1

32



(v) Riley Polynomials at the component

Crossings

Riley Polynomials at each crossing

C1,C2,C3
C4,Cs5, Ce
C7,Cg,C9

€10, C11, C12

33



(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ V—1(vol ++/—=1CS) Cusp shape
u = —1.00000
a = 1.00000
b= 1.64493 6.00000
c=
d = —1.00000

34



IX.I¥=(d, ¢c—u, b—u, a—1, u*+1)

(i) Arc colorings

(ii) Obstruction class =1

(iii) Cusp Shapes =4

35



(iv) u-Polynomials at the component

u-Polynomials at each crossing

Crossings
1 2
C1,C10,C11 (u— )
Co,C4,C
2,64, C5 U2+1
C6,C9, C12
2
C3,C7,C8 u

36



(v) Riley Polynomials at the component

Riley Polynomials at each crossing

Crossings
—1)2
C1, €10, C11 (y )
C2,C4,C5 (y+1)2
C6, C9, C12
2
C3, C7,Cg Y

37



(vi) Complex Volumes and Cusp Shapes

Solutions to I vV—1(vol +/—1CS) Cusp shape

U= 1.0000001
a = 1.00000
b= 1.0000001 | —1.64493 4.00000
c= 1.0000001
d= 0
u = — 1.0000001

= 1.00000

= — 1.0000007 | —1.64493 4.00000
c= — 1.0000001
d= 0

38



X. Iy =(d—u,c—1,b+1, a, u>+1)

(i) Arc colorings

(ii) Obstruction class =1

(iii) Cusp Shapes =4
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
2
C1,C10 (u — 1)
C2,C3,C4
2
€6, C7,C8 u+1
C9
2
C5,C11,C12 (%

40



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
2
€1, C10 (y—1)
C2,C3,C4
2
Ce,C7,C8 (y+1)
C9
2
C5,C11, C12 Y
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(vi) Complex Volumes and Cusp Shapes

Solutions to 17 vV—1(vol +/—1CS) Cusp shape
U= 1.0000001
a= 0
b = —1.00000 —1.64493 4.00000
c= 1.00000
d= 1.0000001
u = — 1.0000001
a= 0
b = —1.00000 —1.64493 4.00000
c= 1.00000
d= — 1.0000001
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XL I ={d—u,c—1,b—u, a—1, u> +1)

(i) Arc colorings

o= (5)

(ii) Obstruction class =1

(iii) Cusp Shapes =4

43



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
2
C1,C2,Cq u
€3,C4,C5
2
€7, €8, Cy u+1
C12
2
€10, C11 (u—1)

44



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
2
C1,C2,Cq Yy
€3,C4,C5
2
C7,C8,Cg (y+1)
C12
2
€10, C11 (y—1)
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(vi) Complex Volumes and Cusp Shapes

Solutions to I}y vV—1(vol +/—1CS) Cusp shape
U= 1.0000001
a = 1.00000
b= 1.0000001 | —1.64493 4.00000
c= 1.00000
d= 1.0000001
u = — 1.0000001
a = 1.00000
b= — 1.0000007 | —1.64493 4.00000
c= 1.00000
d= — 1.0000001
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XIIL. I =(d—u, cb—u+1, a—1, u? +1)

(i) Arc colorings

(ii) Obstruction class = —1
(iii) Cusp Shapes = —2

(iv) u-Polynomials at the component : It cannot be defined for a positive
dimension component.

(v) Riley Polynomials at the component : It cannot be defined for a positive
dimension component.
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(iv) Complex Volumes and Cusp Shapes

Solution to I}y | v/—1(vol ++/—1CS) Cusp shape
u = e e .
a = ---
b= —3.28987 —2.00000
c—
d =

48



XIII I? = {a, d—v, —av+c+1, b—1, v> +1)

(i) Arc colorings

(ii) Obstruction class =1

(iii) Cusp Shapes = —8

49



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
2
C1,C11 (u — 1)
C2,C3,Cs5
2
€6, C7,C8 u+1
C12
2
C4, C9, C10 (%
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
2
C1,C1 (y—1)
C2,C3,Cs5
2
Ce,C7,C8 (y+1)
C12
2
C4,Cg, C10 y
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(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol + v/—1CS) Cusp shape
v = 1.0000007
a= 0
b= 1.00000 —4.93480 —8.00000
c = —1.00000
d= 1.0000001
v = — 1.0000001
a= 0
b= 1.00000 —4.93480 —8.00000
c = —1.00000
d= — 1.0000001
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XIV. u-Polynomials

Crossings u-Polynomials at each crossing
o1 en w?(u— 1) (u? + 3u + 4) (u* — u® + 16u + 16)
((ut w4 11 F 1+ 4)2) (w420 4+ 6u 1)
C2,C3,Cs5
e u?(u —1)°(u? +1)3(u? + u + 2)(u* — 3u® + 4u® — 4u + 4)
6, C7,C8 p ]
1 (ut 4 3u® 4+ 5u? + 3u 4 2)% (w8 + ut + 2uP + 5u® — 2u + 1)
2 2 30,2 3¢, 4 2 3
c4, Co w (u—1)(u® 4+ 1)°(u* +u+2)°(u* +4u” —2u+1)
(u® = 3u® + Tut — 9 + 8u? — du + 4)
1o u?(u —1)%(u+ 1) (u? — 3u + 4)>(u* — 8u® + 18u? — 4u +1)?

(u® — 5’ + 11u* — 15u® + 48u? — 48u + 16)
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XV. Riley Polynomials

Crossings Riley Polynomials at each crossing
vy — DM (y? — y 4+ 16)(y* — v® + 64y® — 256y + 256)
C1,C11 4 3 9 9
- (y* 4 21y° 4 107y? — 33y + 16)
(Y% + 18y° + 159y + 6841° + 1151y% + 34y + 1)
C2,C3,C5 -
o oo s v (y— 15y + 1% + 3y + 4 (y* — v + 16y + 16)
1o (WP 1P+ 1y + 47+ 20+ 6y 1)
c4.co vy — Dy +1)°(% + 3y + 4°(y" +8y° +18y° + 4y + 1)°
(y® 4 5y° + 11y + 159° + 48> + 48y + 16)
10 vy = 1) (% =y +16)°(y" — 28y° + 262y + 20y + 1)°

(y% — 3y° + 67yt + 383y> + 1216y> — 768y + 256)
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